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Answers (4.A):  2 Have, haven’t   3 Has, has   4 Have, haven’t   5 Have, have   6 

Has, has 

 

Answers (5.) - I don’t understand how this works. - Are there any instructions with it? 

- Yes, I think so. But I can’t find them. - Did you leave them in the shop? - No, I don’t 

think so. They might be in the box somewhere. 

 

 + - ? 

Present Simple They swim in a lake.  

 

They don't swim in a 

lake. 

Do they swim in a lake? 

Present 

Continuous 

 

They are swimming in a 

lake. 

They aren't swimming 

in a lake. 

Are they swimming in a 

lake? 

Going to future 

 

They are going to swim 

in a lake. 

They aren't going to 

swim in a lake. 

Are they going to swim 

in a lake? 

Will Future They will swim in a lake. 

 

They won't swim in a 

lake. 

Will they swim in a 

lake? 

Past Simple They swam in a lake. 

 

They didn't swim in a 

lake. 

Did they swim in a 

lake? 

Past Continuous They were swimming in 

a lake. 

 

They weren't swimming 

in a lake. 

Were they swimming in 

a lake? 

 

 

PRESENT PERFECT TENSE. 

 

My friend / a new car / buy  

+ My friend has bought a new car. 

-  My friend hasn't bought a new car. 

? Has my friend bought a new car? 

You / the problem / understand 

+ You have understood the problem. 

-  You haven't understood the problem. 

? Have you understood the problem? 

 


